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Find the acceleration opposite

to the motion of the snow-
boarder uph'\ll

P =0,
& ==°
N = \M_Cﬁ(o’:@«

m cancles out of the last Eq. and we are left with

éfjgimé - ‘tj\haf_—oaé =

Q

= —3 ECV\G + ‘\)\h@z@l

< - 3&;@,@\& N~ (R M/E

UogmaRiMR

Daemi 3, -06-12

Tminimum

ef 9= AL MET

The needed centricetal acceleration at
minimum © has to be 3rea+er then 9
Find the sPeed needed to ﬁive 4.503

(= 'S0 w
2
S Vi
maximum rw
2
/\J = ach

= A

S

&

Daermi 4, \-06-86

Sp‘ner'lcal bacteria d=2.00 pm f:"all'lnj in water
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